1) Let X ~ Uniform({1,2,3}). Find the MGF of centralised X.
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2) Let X1, X5, X3 ~iid X and X ~ Uniform({—0.5,0.5}). Define S = X; + X, + X3. Find the MGF of S.

v )
S o A o\r\\a 0.5 o — 0.5 oS vA\ues |

\Whew 10 vortoles ot odded o The MEF & e Sam g g?w;'o\a,
e ()(D(\&(SK & WMOF ofF  ®) \octoldes

S‘\f\O (\’ ()(OOG 9

MGE of X = Ffe'\w] = A x A—O'Q + \ o "
= 2
e e B e B Y
NS [ e ]

= [C_o,r,\ o.sf\\z
2 J/




3) Let X}, X» ~iid X and X be a discrete random variable with following probability mass function
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Define Y = X, + Xbs. Find the distribution of Y.
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6) What is the value of sixth moment of the Normal(0, 3)?
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